ASSEMBLY INSTRUCTIONS

ITEM NO.: 285313 and 285314

Do not tighten screws until completely assembled.

PAGE 1 OF 11



PARTS IDENTIFICATION

PAGE 2 OF 11



PARTS IDENTIFICATION

I 1pc
2pcs
J ¢///////////ﬂ 1pc
2pcs |

K 2pcs
C //////////// 1pc

//////////// . 2pos
D ////// 1pc
E <§§§§§§§§2> apcs | Tr 2pcs
j % 4pos >

1

G D 4pcs N Pe

4pcs

I
C—— /"0

HARDWARE LIST

2 DDAD 3 MMM

8pcs | M6x25 32pcs | M6x30 8pcs
5 AMMENTRNNNN 6

16pcs| M6x55 2pcs | $32x9$8x2.3 8pcs
8 — 9 é%E%

8pcs | 4X4 1pc | @50 8pcs

24pcs

0 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160

Units (mm)

PAGE 3 OF 11



STEP 1.

PAGE 4 OF 11



STEP 3.

16pcs

2pcs

2pcs

@)mmm

M6x35

STEP 4.

B32xXD8x2.3

8pcs

PAGE 5 OF 11




STEP 5.

PAGE 6 OF 11



STEP 7.

4pcs

STEP 8.

PAGE 7 OF 11



4pcs

2pcs

@)mmm«

M6x30

STEP 10.

PAGE 8 OF 11



STEP 11.

¢
I '
Y
7 \
Y

) %
NGBS
\
\

[ )
/N \V/AN
v} /) /8 - ® )
N
\ N
\Y 4 \
= \ \/ gy D) )
¢Q\
\ /o W
d~ 00» /
\ A \ &
\ Y ) ¢
DU A
/. /. \/
N\ \ \
//5
AN
. 1]

4,

A\

STEP 12.

PAGE 9 OF 11



STEP 13.

STEP 14.

PAGE 10 OF 11



/Safety Warnings \

1.Follow the information on the warnings appearing on the upper
bunk end structure and on the carton . Do not remove warning
label from bed.

2.Always use the recommended size mattress or/and mattress support
to help prevent the likelihood of entrapment or falls.

3.Surface of mattress must be at least 5 in. below the upper edge of
guardrails .

4.Do not allow children less than 6 years of age to use the upper bunk.

5.Periodically check and ensure that the guardrail, ladder ,and other
components are in their proper position ,free from damage ,and that
all connectors are tight .

6.Prohibit horseplay on/or under the bed and prohibit jumping on the
bed.

7.Always use the ladder for entering and leaving the upper bunk.

8.Do not use substitute parts ,Contact manufacturer or dealer for
replacement parts.

9.Use of a night light may provide added safety precaution for a child
using the upper bunk.

10.Always use guardrails on both long sides of the upper bunk.

11.If the bunk bed will be placed next to a wall, the guardrail that runs
the full length of the bed should be placed against the wall to prevent
entrapment between the bed and the wall.

12.The use of water or sleep flotation mattress is prohibited .

13.Keep these instructions for future reference.

14.Use only mattress which is 54"X74 3/4" X6" on upper bunk and
for bottom bunk required 54 "X74 3/4" X8"mattress.

15. Prohibit more than one person on upper bunk.

STRANGULATION HAZARD:

16.Never attach or hang items to any part of the bunk bed that are not
designed for use with the bed for example, but not limited to hooks,
belts, and jump ropes. /

PAGE 11 OF 11



	BDF1006 FQ床 说明书 Model (1)
	BDF1006 FQ床 说明书 Model (2)
	BDF1006 FQ床 说明书 Model (3)
	BDF1006 FQ床 说明书 Model (4)
	BDF1006 FQ床 说明书 Model (5)
	BDF1006 FQ床 说明书 Model (6)
	BDF1006 FQ床 说明书 Model (7)
	BDF1006 FQ床 说明书 Model (8)
	BDF1006 FQ床 说明书 Model (9)
	BDF1006 FQ床 说明书 Model (10)
	BDF1006 FQ床 说明书 Model (11)

